= o
N & o & AF & H Al A
20218 & =04k LBHSIH AlRIASA
FMANUALASA
My ASHHPH
el AlRIAS CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
AMBIASA 11,996,745 14,081,713 A 2,084,968
= 451,500
Al 11,545,245
LASHEIH 64,000 74,000 210,000
AMBIASE 64,000 74,000 A 10,000
ANAS A2} 64,000 74,000 A 10,000
201 Let24E] 25,000 40,000 A 15,000
01 At 22l 25,000 40,000 A 15,000
OFMY 0lAs A TAUAY, 2F 25,000
A QI RIEF| 9 7,500,000& »23| 15,000
S gt 5,000,000& »23l 10,000
202 04l 26,000 26,000 0
01 = LH YI 26,000 26,000 0
OAMHBHRZ=Z 4l 26,000
203 PR =&l 8,000 8,000 0
03 Al =X H 2 =& 8,000 8,000 0
OFZXH g2=2 8,000
301 LPEXF 5,000 0 5,000
09 HALAHIX &S 5,000 0 5,000
OLSHAN & 5,000
MEORXHel 346,688 376,973 A30,285
M0l el At 346,688 376,973 A 30,285
1208 SAMU 2 21,200 21,200 0
201 et 21,200 21,200 0
01 At 22l 11,200 11,200 0
OX0tot= SEEBIA LBt H| 7,000
OO0t FEUAE LI=HI
250,000& x6H +23| 3,000
O1202 2 S At 1D RZH EH 1,200
02 =224l 10,000 10,000 0
OLJASAL 2 X KA 10,000
HOotol= 8 ZOEA 325,488 355,773 A 30,285
101 @124l 59,888 61,173 A 1,285
M4 II2HZ22NSES 59,888 61,173 A 1,285
OUHLEZE & a3 138,980& 3% 120 50,033
ool.oges 69,7603 x1H » 120 8,372
Odtgols ANMEE 58,405,000& 0. 888% 519
odtgele ng2E 58,405,000 x1.65% 964
202 oddl 9,600 9,600 0




SN ANASA
M MEOIRF
Chel: MEBOIY X2lAlY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 2L I 9,600 9,600 0
OXIAIALE, H0tDl= SHOA =X
20,0003 x4H 120 9,600
206 M = Hl 36,000 40,000 A 4,000
01 X2 H| 36,000 40,000 A 4,000
OX0PIt=s ol e 84 NP (308) 36,000
401 Al HI L £ 0HHI 220,000 220,000 0
01 Al& H| 218,416 218,416 0
OME0IA XelAtY 220,000, 000& *99. 28% 218,416
03 Al&E 201 Y| 1,584 1,584 0
OMEOIA XelAtg 220,000,000 *0.72% 1,584
NR=-L =1y 11,159,276 13,172,884 N2,013,608
& 451,500
Al 10,707,776
K SO0 A 22 11,159,276 13,172,884 N2,013,608
& 451,500
Al 10,707,776
AP0l =2A AL 22 (KA 10,199,776 12,887,984 N 2,688,208
401 Al HIZL 2 0HY| 8,725,776 11,371,784 N 2,646,008
01 Al&H| 8,679,532 11,310,792 N2,631,260
oeEs 177,071
Bele X2 42 HH 2 At
12,440,000 *98.92% 12,306
el o2 =& HH|ISA
15,000, 000 *98.92% 14,838
Ml B2 AU ZAF 8,500,000& *98.92% 8,409
AN ot Hi=2 HUIZA
11,700, 000& *98.92% 11,574
3tal HH &2 ZHIZ2A
20,000,000 x98.92% 19,784
AT =X =2 HHIZ2A
9,600,000 *98.92% 9,497
A OFZ HH|Z A 11,000, 000 *98.92% 10,882
A ot HH| B A 8,440,000& *98.92% 8,349
S AR ZAH 20,000,000 x98.92% 19,784
AE ot HH|I B A 17,600,000 x98.92% 17,410
e ot HUIZAH 23,500,000 x98.92% 23,247
& ot HH|Z A 21,220,000& *98.92% 20,991
Ox=dH 142,445
olF=0l= ot SHAX 2 A
30,000,000 x98.92% 29,676
AFOS o2 EHEZEA
20,000,000 x98.92% 19,784
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L= B

el

5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
EXotg MYz SHAEISA
30,000,000& *98.92% 29,676
SE0S &2 SHEXSA
30,000,000& *98.92% 29,676
St&0ts dY=2 FHISA
20,000,000& *98.92% 19,784
Y0t MY=2 FHISA
14,000,000& *98.92% 13,849
O=X¢ 90,019
E20tS ot FHISA
15,000, 0002 x98.92% 14,838
MEOHS o2 ZHISA
25,000,000& *98.92% 24,730
&20t2 ot Bi+== HHISA
22,000,000& *98.92% 21,763
E2Z0tS 212 =Y ZHISA
12,000, 0002 *98.92% 11,871
2220t o2 ZESA
12,000, 0002 *98.92% 11,871
OteintS MYUZ OtAE ZESA
5,000,000 x98.92% 4,946
OzssH™ 72,708
FA0tS MYZ FHISA
4,000,000& %98.92% 3,957
SUOtS etz HHIS A
18,000, 000& *98.92% 17,806
£S0i2 FYZ - o2 FHHISA
28,200,000& *98.92% 27,896
HA0LS ot THEZE I A
23,300,000& *98.92% 23,049
OFd4d 143,094
AZOIS MYZ 0tAZ ZHSA
23,000,000& *98.92% 22,752
Sshts ot b2 ZZ A
18,000, 000& *98.92% 17,806
HdE0S ¢ =22 ZBISA
14,000, 0002 *98.92% 13,849
as0S 242 ALY HHISA
10,000, 000& *98.92% 9,892
A0S oHZ ZHI S A
19,000, 000& *98.92% 18,795
Hie=ds2 =8 U SA 60,000
OF=PNR= 96,942
A0S otd ti== EHISA
25,000,000& *98.92% 24,730
HA0LES et HUISA
23,000,000& *98.92% 22,752




2N

INREIEA ===
M NS
Chelr XISIN AL 22l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
LENS &2 FHISA
30,000,000& *98.92% 29,676
SF0tS ot FHHISA
20,000,000& *98.92% 19,784
ouzd 117,718
SEOS ot U SA
24,000,000& *98.92% 23,741
C=0t= ot HHISA
13,000, 0002 *98.92% 12,860
SEOIS 012 OlAR EEEBA
17,000, 0002 *98.92% 16,817
A0S oF2 OtAE ZESA
18,000, 0002 *98.92% 17,806
gHAOFS ot OtA 2 EE I A
20,000,000& *98.92% 19,784
YOS 242 FHHIBA
11,000, 0002 *98.92% 10,882
ADIOEE orY OtAE XX B AL
16,000, 0002 *98.92% 15,828
OfarH 83,198
2Z0tS =2 ZHISA
26,000,000& *98.92% 25,720
230t 85 < JI&d Y EX3A
58,000, 000& %99. 1% 57,478
OALOH & 95,954
2ZE ot FHISAL 30,000,000 *98.92% 29,676
EE0tS otz HUISA
20,000,000& *98.92% 19,784
So orsSetd A=47] A
14,000,000& *98.92% 13,849
>0 82 HEE SAt
27,000,000& *98.92% 26,709
SE o2 ZHISA 6,000,000& *98.92% 5,936
ogund 70,234
2402 o2 FHHISA
30,000,000 *98.92% 29,676
Sts0tS etz HHISA
30,000,000 *98.92% 29,676
CEOS o2 ZHISA
11,000,000 *98.92% 10,882
OE&ZdH 17,717
MEDOIS otd OlAZ2 MEZE 2L Hix=2
Ul S At 28,400,000& *98.92% 28,094
S50 =2 ZHISAM
10,800, 000& *98.92% 10,684
FEOS 2t OtAE HEFHSA
34,200,000& *98.92% 33,831
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PSRN IIOUHCZ*
Chelr XISIN AL 22l (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SHOS ot OtAE HEZ S AL
31,500,000& *98.92% 31,160
SEO0S ot A2 ZESA
14,100,000& *98.92% 13,948
ousd 96,942
SEOS o2 A= B3 A
35,000,000& *98.92% 34,622
A0S ot =2 FUISAH
30,000,000& *98.92% 29,676
SE0HS ot ST IS A
33,000,000& *98.92% 32,644
O0|ed 110,791
Ts0ts o2 ZHISA
20,000,000& *98.92% 19,784
LHES0tS =2 HHIZA
20,000,000& *98.92% 19,784
At OtS ot SHE I AL
25,200,000& *98.92% 24,928
220S =2 HHISA
25,000,000& *98.92% 24,730
QENS ot 0tAE ZEIA
21,800,000& *98.92% 21,565
ooaH 125,630
Szt 28 & BAANESA
15,000, 0002 *98.92% 14,838
A0S o2 FUIZA
25,000,000& *98.92% 24,730
SR0S o2 ZHISA
15,000, 000& *98.92% 14,838
AFEOFE o2 EHISA
15,000, 0002 *98.92% 14,838
Kteli0rS HAAIE S A
10,000, 0002 *98.92% 9,892
SEOIE 4L A= X 3A
16,000, 0002 *98.92% 15,828
EF02 &2 ZHISA
24,000,000& *98.92% 23,741
HSO0tS BEAANESA
7,000,000 %98.92% 6,925
ootg s 118,705
X0tE ot =E FHISA
24,000,000& *98.92% 23,741
FX0tS 2 =2 HHISA
24,000,000& *98.92% 23,741
S20ls ot =2 FHHISA
10,000,000 *98.92% 9,892
MEOIS Y2 =2 U SA
10,000,000 *98.92% 9,892
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X{ XH -
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IIQUH

DO EARY 2t el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SUHOtS =XNEZAH EE EXSM
20,000,000& *98.92% 19,784
LHelgrs ot otA 2 ZEIA
20,000,000& *98.92% 19,784
OlS0tS ot OtA 2 ZEHIA
12,000, 000& *98.92% 11,871
O_HLH ™ 143,550
Bl FHE HHEZ S A
37,500,000& *98.92% 37,095
SJI0tS ot =HEFSA
64,000,000& *99. 1% 63,424
s erdti=2 I Al
18,000, 0002 *98.92% 17,806
SE0ts ot 0tAE ZESA
25,500,000& *98.92% 25,225
okLgs 95,136
Scoz SEIHEA
96,000,000& *99. 1% 95,136
=1 58,365
. =23 63 IS HEESA
16,000, 0002 x98.92% 15,828
a2 28 02 THEE S AL 2 1A
15,000, 0002 *98.92% 14,838
=35 78 022 HEHEIA
22,000,000& *98.92% 21,763
=5 98 =2 X ZA
6,000,000& *98.92% 5,936
OF=FE=5 75,284
Z2ES0s o2 HEESA
18,000,000& *98.92% 17,806
ste=0ts ot HH ZHISA
58,000, 000& %99. 1% 57,478
Ooguns 148,380
A=0tE =2 FHISA
15,000, 000& *98.92% 14,838
g 48 32 =2 HHISA
15,000, 000& *98.92% 14,838
TEOS Y2 L HH=2 ZHISA
10,000, 000& *98.92% 9,892
EX0tS ot FHIZA
20,000,000& *98.92% 19,784
w53 2 XNYUZ 0tAE ZEHISA
40,000, 000& *98.92% 39,568
EZ0IS =BHEHISA
15,000, 000& *98.92% 14,838
g 88 2 ot OtAE MEZEZSA
15,000, 000& *98.92% 14,838
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